
0 Nordson Nordson Corporation TECHNICAL PUBLICATION 16-21-l 
Finishing Equipment Division, Amherst, Ohio 44001 

SUPERSEDES ISSUED 5/78 

Nordson VI-inch Wheel Dolly 

L 

Figure 1 - Nordson lo-inch Figure 2 - Nordson lo-inch 
Wheel Dolly Wheel Dolly Mount Kit 

The Nordson lo-inch wheel dolly is furnished with the dolly mount kit installed. 
The dolly and mount kit are designed to mount either the Model 255 or Model 64B 
airless pumps, the NH-4 Heater, fluid filter, and necessary hoses. Welded mounting 
blocks, located on the dolly uprights, provide for installation of the Model EPU-8 
Power Unit. 

The dolly mount kit is available (less dolly), to facilitate use of customer% present 
installation. The mount kit is designed to accommodate a complete Nordson Airless 
System. Equipment may be installed to the mount plate in a number of arrangements. 
Refer to Figures 3 through 10. 

SPECIFICATIONS 

(Dolly) 

Height 
Width 
Depth 
Wheel Diameter 

U.S.A. Metric 

41.5 inch 1054 mm 
19.75 inch 502 mm 
22.0 inch 559 mm 
10.0 inch 254 mm 

LITHO U.S.A. 



16-21-2 0 Nordson CORPORATION / Amherst. Ohio 44001 TECHNICAL PUB1 /CATION 

ISSUED 5178 SUPERSEDES 

Nordson Dolly Mounting 

Model 25B System Equipment 

Figure 3 - Model 25B, NH-4 Heater, 
Filter, and EPU-8 Power Unit, Front 
View 

Figure 4 - Model 25B, NH-4 Heater, 
Filter, and EPU-8 Power Unit, Rear 
View 

Figure 5 - Model 25B, NH-4 Heater, 
and Filter, Front View 

Figure 6 - Model 25B, NH-4 Heater, 
and Filter, Rear View 

0 The above equipment mounting arrangements are shown and 
suggested because of equipment weight, and for adequate dolly 
stability during system operation. 

NOTE: Figures 5, 6, 9, and 10, illustrate the pump and heater mounted 
back-to-back. This arrangement is accomplished by using the 
four (4) long hex screws (5/16-18 x l-3/4), lockwashers, and 
nuts. 

LITHO U.S.A. 



0 Nordson Nordson Corporation TECHNICAL PUBL/CAT/ON 16-21-3 
Finishing Equipment Division, Amherst, Ohio 44001 

SUPERSEDES ISSUED s/78 

Nordson Dolly Mounting 

Model 648 System Equipment 

Figure 7 - Model 64B, NH-4 Heater, 
Filter, and EPU-8 Power Unit, 

Front View 

Figure 8 - Model 64B, NH-4 Heater, 
Filter, and EPU-8 Power Unit, 

Rear View 

Figure 9 - Model 64B, NH-4 Heater 
and Filter, Front View 

Figure 10 - Model 648, NH-4 Heater 
and Filter, Rear View 

0 The above equipment mounting arrangements are shown and suggested 
because of equipment weight, and for adequate dolly stability during 
system operation. 

LITHO U.S.A. 



16-21-4 TECHNICAL PUBLICATION Nordson Corporation l Finishing Equipment Division 

ISSUED l-l/86 SUPERSEDES 4/ 85 

Key 

3 
4 
5 
6 
7 
8 
9 

10 
11 
12 
13 
14 
NS 

Kit No. Part No. Description Req’d. 

245 859 
800 000 
245 864 
981 264 
820 024 
983 150 
981 309 
981 312 
984 140 
972 180 
972 255 
972 555 
820 036 
972 598 

Figure 11 - Dolly with Mount 

PARTS LIST 

Dolly, Wet System, w/Mount 
. Hose, Rubber, 3/8 I.D., Air 
. Plate, Mount 
. Screw, Flt. Hd., l/4-20 x 3/4 
. Hose, Nylon, 1 /,I1 x 24” (l/2-20 Fittings) 

Lockwasher, .313 
: Screw, Hex, 5/16-18 x 3/4 

Screw, Hex, 5/16-18 x l-3/4 
: Nut, Hex, 5/16 

Elbow, Male, l/2-20 x 3/8 NPT 
: Elbow, Male, 3/4-16 x 3/8 NPT 
. Fitting, Barbed 
. Hose, Nylon, l/4’) x 36” (l/2-20 Fittings) 
. Connector, Elbow, Male 3/4 x 718 

1 
1 
1 
4 
1 
8 
8 
4 
4 
1 
1 
1 
1 
1 

LITHO U.S.A. 


	Nordson 10-inch Wheel Dolly
	Specifications
	Model 25B System Equipment
	Model 64B System Equipment
	Parts List


